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Wﬁﬁﬂ:

(i)
(ii)

(i11)

(iv)

(v)

(vi)

(vii)

Tyt go7 AT & |
J97 &I 1 - 5 T Io9% J97 Uek 37F & 8 | Jed%b J97 & I 20 Vsl &
37ferew 781 81T F0eT |
I3 G&IT 6 — 10 TF 9% 97 g1 371 &7 & | I3 97 &1 IR 40 sl @
37ferem 787 81T F05T |

J97 &7 11 — 16 T Icd% 97 &R 37H] &7 & | Jod% 97 &7 IR 100 J5)
g 37feres 787 §7 @50 |

97 G&IT 17 — 21 TF cd% J97 Giel 37! HT & | Id% 97 &7 IR 150 53!
g 37fere 787 17 =leT |

o7 g1 21 HAEE W STGIRG Fo7 & | $9% IR ITH FH-Jiawr
ferfera |

J97 G&IT 22 — 27 % o9F Yo T: bl H1 & | 9% J97 &1 3K 150 Isc]
g 37 787 §l7 =5 |

General Instructions :

)
(ii)

(i11)

(iv)

(v)

(vi)

(vii)

All questions are compulsory.

Questions number 1-5 are of one mark each. The answers to these
questions should not exceed 20 words each.

Questions number 6 - 10 are of two marks each. The answers to these
questions should not exceed 40 words each.

Questions number 11 - 16 are of four marks each. The answers to these
questions should not exceed 100 words each.

Questions number 17 - 21 are of five marks each. The answers to these
questions should not exceed 150 words each.

Question number 21 is a map-based question. Write its answers in your
answer-book.

Questions number 22 - 27 are of six marks each. The answers to these
questions should not exceed 150 words each.
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1.  Togdiaar s 31d 1 & SRv T HiT | 1

Explain the main reason for the end of bipolarity.

2. fTmafafea § 9 - w9 ‘s i’ 1 31 Tase At @ 2 1
(1) o8 T unl S gt e g W STE § Siear |

(&) =g M ou % S AEATeHs TR ST H-firetd 1 adent
3|

(@) g s w4t # it % S e R

(8) ¥ a8 ol & 8 it 2wl 3 mesem s & fore srgemn o |
Which one of the following statements explains the meaning of ‘ASEAN
Way’ ?

(a)  Itistheroad that connects all the ASEAN countries.

(b) It is an informal and cooperative interaction among the ASEAN
countries.

(c) It is the way people live in ASEAN countries.
(d) Itisthe way ASEAN countries adopted to form an alliance.

3. 19713 Gl | 350 T % Afca el HEE Ul H A T IwarE
&I Heh I hHA T | 1

Assess the main factor responsible for the success of Congress Party led
by Indira Gandhi in 1971 elections.

4.  YAR WRA 1 9A F84 R I1d TSAT 1 Tl B § 2 1

‘Seven Sisters’ of North-East India represent which seven States ?

5. WA W gY Fopel U TH SH 3MIGieM i gge™ shifae S foehrE afiseT T
3ok UYTEl § gref-erg o | 1

Identify any one popular movement of India which was related to the
development projects and their effects.
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6. WS TN % WY 8 MY S TaH ¥, B ¥ fopd bR emwif=a gy ? 2

How were small countries benefited by having military alliance with big

powers ?

7. Tl ue 3erewr i gErar 9 cwiisy foh Mefiehl 3 Avtehtur o THR Skl s
T i 7 | 2

Show with the help of one example that technology has accelerated the
spread of globalisation.

8. o uwieH o =afba wieww gmeeel fohegl o gei o1 ave it A ™
femmm faffa fee o | 2x1=2

Describe any two environmental issues on which conventions were
produced at the Rio Summit.

9. W ‘A’H feu U qei 1, TW B’k a2l § U e HiT 4><§:2
T A’ &Y B
(a) GEU THEETT ASHT % ASHTHR i) . ST
(b) S TY % TEIATIH AT (i) TIER IgvuTs 9o
(c) TIad WRA o JIW WA TR e (iii) 1.5, weremifad
(d) T YRA o TI9 J9-TaFHA (iv) I JEE gESi

Match the facts given in Column ‘A’ with those in Column ‘B’ in a
meaningful way :

Column ‘A’ Column ‘B’

(a)  Architect of the (1) C. Rajagopalachari
Second Five Year Plan

(b)  Founder President of (ii))  Sardar Vallabhbhai Patel
Jana Sangh

(c) First Indian Governor (iii) P.C. Mahalanobis

General of free India

(d)  First Deputy Prime (iv) Shyama Prasad Mukherjee

Minister of free India

59/1 (CD) 4



10.

11.

12.

13.

14.

15.

16.

IS Teh ICTEWT ¢oht gRNTST, foh =fiM 4 WA o @1y draw4i ol fiErar & & fohan
T S1G H gYHA S T | 2
Show with the help of any one example that China began its relations

with India on a friendly note but later turned to be an enemy.

“gaar Ty GRaT AR 6 Tl ewd w4 et vt 3 wgEd T
JHTIRT 3R TR 89 99 H H8™dT e hl 2 |7 39 I o 9 H hi a
IUYHd b T | 2x2=4

“Veto power to permanent members of the U.N. Security Council has

helped to make the U.N. an effective and stable organisation.” Support

the statement with any two suitable arguments.

A 3T <4 & off= fqarg & fohgl 91 qei ! T HIT | 4x1=4
Explain any four issues of conflict between India and China.

Y9 I & Tk AW & &Y § ANIA FA8 HRHH & ol Hl oA
I, | 4

Evaluate the benefits of the programme ‘Operation Flood’ as part of the
White Revolution.

yra i faew ifd & s o= & w9 #, qefmgar i ity i smen
I | 4

Explain ‘Non-alignment’ as an aspect of India’s foreign policy.

AT feohem Jfm <t foheal 9 BT T 3g@ ShIfT, | 4x1=4

Mention any four demands of the Bhartiya Kisan Union.

1980 % @k % 3AfqW du H, YN § Y ¥ gl a1 5 deadl &l auH
T Sept AT 3T I TG W T80T I9TE 9T | 2x2=4

Describe any two major developments that were to make a long lasting

impact on Indian politics since the decade of eighties came to a close.
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17. Tr=fifiea 3G o1 eamydes A=A T aan 3qeh = 7T T J9Ai o IW
I
Hifea g9 A @ T o gl o K guSard) a5
qad o g fore ToIfd % foge & TR @ | sEE A AR W dH
TR o GUITHT TRad 8T 3T gL afiadd o sgd 9r JwE g |
()  Hifaad 99 & Idq 1 F1 TSH{deh I TSI ?
(i) gl g 3 THTSEE] ST & UaH o SRVl HI AN W T fohel &l
SUITHT &l Sl IR HINT |
(i) THSETE ¥l Shi Tohral ol TamIvareti 1 3g@ it | 1+2+2=5

Study the following passage carefully and answer the questions that

follow :

The collapse of the ‘Second World’ of the Soviet Union
and the Socialist systems in Eastern Europe had profound
consequences for world politics. Let us note here three broad
kinds of enduring changes that resulted from it. Each of these

had a number of effects.

1) What was the political impact of the collapse of the Soviet

Union ?

(ii))  Highlight any two broad kinds of enduring changes that
resulted from the collapse of the Second World and the

Socialist system.

(iii) State any two characteristics of the Socialist system.
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18. fr=feifad 3gror &1 samgdes steem Hifae qeon 3aess A= fow Mo gwai & 3w
T

(i)
(ii)
(iii)

JTTATET o A Tgct TSI o =iwon <h1 foh wra @ ferfest

e % "9 g ware ot fsfew-srehaar & e g S | gHeR
Haqs I8 o1 Toh At TWaTe Toifee-Ust il |t o &9 & St di
T IATG B ST | STUSH-TS I AT I8 o7 foh G arg 10!
TSl | 918 9 WRA AT dIfehea™ H WS & W A fR 3To e
Jfeded 91 @ |

I AR T SATSE | T IR 3 2

“forfest ugea’ &1 319 Tyse i |

U gHT TATEl I U SAefiar & gokd hid b WD T ser

a1 ?

1+2+42=5

Study the following passage carefully and answer the questions that

follow :

(1)
(ii)

(ii1)

59/1 (CD)

Just before Independence it was announced by the
British that with the end of their rule over India, paramountcy
of the British Crown over Princely States would also lapse. This
meant that all these states ... would become legally
independent. The British Government took the view that all
these states were free to join either India or Pakistan or remain

independent if they so wished.
What is meant by ‘legally independent’ ?
Explain the meaning to ‘paramountcy of the British Crown’.

Highlight the hidden motive of the British behind declaring

the end of their rule over Princely States.

7
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19. frfafad 3guor &1 samgdss stem Hifore qen 3w Hi9 fou MU wwEt & 3w
i
IR dfggm & Fmfare w0 fagam o 6 oft
Torifdeh ot clishdifieh JTehi <l UTe Ul | 32 a8 oft fogamm on
fh st i feafa A off WeR Stut srmumw Wi
SEATe oty < e % SRR H Ted g 1 Ul | g 3G § W
I SUTTRIA T IS TELHI % Fea saTIeh R TggE! vt g &
T |
() YR T AU S99 I fhE %o o T 9 2
(i) 1975 H =S ATTAeRTA & TR, TLHR gRT Alhdd o HIHhI &
3%E & IS T 3qT8WT ST |
(iii) 1975 § HIfYd ITdhTA fohd THT Toh AT o1 2 394 I
9% T Teh IUYFd doh (AU | 1+42+2=5

Study the following passage carefully and answer the questions that
follow :
The makers of India’s Constitution trusted that all
political parties would basically abide by the democratic norms.
Even during the Emergency, when the government would use
extraordinary powers, its use would be within the norms of the
rule of law. This expectation led to the wide and open ended

powers given to the government in times of Emergency.

) Name the body that comprised the makers of the
Constitution of India.

(ii))  Cite any two examples of violation of democratic norms by
the government during the Emergency declared in 1975.

(iii) “How far was the Emergency declared in 1975 justified ?”
Support your answer with one suitable argument.
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20. 9 fou MU wT w1 eaEgde reaE hife qen Iwes A9 fo MU ywEi % 3@
IS

(i) g | gErEn T &fe fRE <@ 1 afdfafuea s @ g 2

Gi) OfFe i o W fafvw o= & 9 Sifrd FE & FHRO w1 favamo
S |

(i)  I% e fova & 1= ;M I 7T WA ¢ @M R 2 1+2+2=5
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Study the cartoon given below carefully and answer the questions that

follow :

Ares, Cagle Cartoons

1) Which country is represented by this soldier ?

(i1) Analyse the reason for putting the names of different countries on
the dress of the soldier.

(iii) What message does the cartoon convey to other countries of the
world ?

59/1 (CD) 10



Fig:  [Arfkiiad o7 Feac gieartaa qagmndar & [/, 397 G891 20 & T W8
Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 20 :

(20.1)
(20.2)

(20.3)

(20.1)

(20.2)

(20.3)

9/11 h! JATAHATE! ITTSHAUT Hg4 It <30 kT A9 TARgU |

aTeh <l feregl g1 ferRiwanati st I9mR <hifs |
TIHI TST NI & Jod & Tkd § fopell T ofaliy il =men
HIT | 1+2+42=5

Name the country which faced the terrorist attack on 9/11.
Highlight any two features of SAARC.

Explain any one constraint on the U.S. hegemony.

21. WRA o QU T @-AFRE § 9" T w1 @), @), ©), O 7 @ g1 e
T g | A @ T IEeH % YR W ! UgAH hifee R 9
IAYfEaert § $h @ 919, AN h TS SR hl hE-TEA qdql graf-ed
e, 9 § g arferest & w9 ° fafe

59/1 (CD)

TN bl TS SR

. grafeyq 37 TSI &1 9H
6l HH-GET il

(1)

(i)

(iii)

(iv)

(v)
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() 98 TS TSEeh! TATOAT 1953 1 83 |

(i) o8 T¥ 98 9 e A SHEIE bl S91=T =4 |

(iii) YA o ITW-YD I Th T |

(iv) 98 TS &l 1952 | 1967 e A3 HIHE H1 IYd & |

(v) IR YCY & HIE L SR T T | 5x1=5
In the given outline map of the India, five states have been

marked as @), @), ©, @ and ®). Identify them on the basis of

information given below and write their correct names in your answer
book with the respective serial number of the information used and the
concerned alphabet as per the following format :

Sr. No. of the Concerned | Name of the
information used Alphabet State

6)

(i1)

(iii)

(iv)

v)

(1) The State which was formed in 1953.
(i)  The State from which Chhattisgarh was carved out.
(ii1)) A North-Eastern State of India.

(iv) The State where National Conference dominated from 1952 to
1967.

(v) The State which was carved out of Uttar Pradesh.

59/1 (CD) 12



I E. 21 % fow For question no. 21

WA T {GT-AHRE (ITeeR)
Outline Map of India (Political)

68° 72° 76° 80° 84° 88° 92° 96° 100°

T ] I

36° 36°

32°

32°

28°

28°

24°

24°

20° 20°

16° 16°

12° 19°

8° g°

km 100 0 100

1 1 1 1
72° 76° 80° 84° 88° 92° 96°
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Fie:  [Aoliga 397 Faa giEana ghemdat & g, gv7 g 21 F T W
Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 21 :

(21.1) T8 TSI 1 I YT 9 37T Hleh =T =T 2
(21.2) 1953 ® s TS &1 4 fafgu |
(21.3)  TopT TSI | A3 HIHE HT 1952 T 1967 T I T ?

(21.4) 3@ TSY &1 M faRgu o8 grgve & 1 fomam T |

(21.5) 38 TsF 1 AW fARau ST 1977 H WRA 1 T 7 &4 T4 | 5x1=5
(21.1) Which State was carved out of Uttar Pradesh ?

(21.2)  Name the State which was formed in 1953.

(21.3) In which State did the National Conference dominate from
1952 to 1967 ?

(21.4) Name the State from which Jharkhand was carved out.

(21.5) Name the State which became a part of India in 1977.

22. TRl 4 B < <l U4 ¢ H w A IMfhe foparm 2 fohedl = mont =l wse

HIT | 4><1é=6
et

TH I3 IR R T HIC giq aifaera Jomeft 1 ot o fore 85fyqet T8

T fea | 4><1§=6

Why did the superpowers have smaller states as their allies ? Explain
any four reasons.

OR

Explain any four reasons which made the Soviet System unfriendly for
the people.

59/1 (CD) 14



23.

24.

25.

‘G 9 T F7A g IHETel] & §eA @ 17 39 %9 % 9 W his

9P Teh 4T | 3x2=6
AYAT

“ORa I Tea o Wt uSE i % Wiy =9 3TN HWeANqul TRy @ W

Yo foRaT 8 17 IS i SUYRT ek goht 39 e Sl gfse iR | 3x2=6

“European Union is a highly influencial regional organisation.” Support
the statement with any three suitable arguments.

OR

“India has always tried to have good and cooperative relations with all its
neighbours.” Support the statement with any three appropriate

arguments.

¥ 2005 W, HYFI g o TG <1 o TSIeA&d| g 9gaid g¢ IHa § S
Tsg 1 Al JElTh S9H W fow, geme Tu fhedl ©: wheHi a1 3g@ hINT | 6x1=6

AT

ST GEAT sl TRUNEh 9TOT o fohegl o9 aedi b1 Ui <hIfTT | 3x2=6

Mention any six steps suggested by the heads of all the member-states in
2005 to make the United Nations more relevant in the changing context.

OR

Describe any three components of the traditional notion of external

security.

Joefientol & B a7l IATfeh AT o Sear 1 foveivur 39 ogR W i T
Taifeh oy 753 grar ], %8 oy fohd fierar 2 e fhael Joham™ 3o Tgar

7 | 3x2=6
Jrra

A R g fafe swrfshal o mieam @, wafawer 8 gefiq dfvas vl |

FEHTATAT T HAToh SHIT, | 6
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26.

217.

Analyse the distribution of economic gains of globalisation on the basis of
who gets the most, who gets less and who loses from it.

OR

Evaluate the participation of the Indian Government in global efforts
through a number of programmes related to environment.

1971 % FATE! B HUH IEf Sl ThaTdr hi IR o AW aTct fohedl d Hehi I
Fuiq I | 3x2=6
arera

a o N

1980 § HEEY TATI HUT T & foI¢ ITRERA fohegl i Rl 1 UM
hifoTT | 3x2=6

Describe any three factors that led the Congress Party to electoral

success in the 1971 elections.

OR

Describe any three factors that were responsible for holding mid-term
elections in 1980.

o ST for e & # foreft o2 sty fmior & sror Argt At qen dehel
i bt faeenfua fopam S 8 | W feufa °, omw o8 W gema dfve fam
Sy o1 T S off U g Foh a9 fowenfuq AT bl H ¥ % hicdTs q
B & | 3x2=6

AYAT
fehegl I IS8T g 39 A <hl gfe hifve fob meft it eTigiem STermaand]

A A TH FAUE TS B | 3x2=6

Suppose lakhs of people and hundreds of villages are to be displaced in
your area due to the construction of a big dam. Give any three

suggestions so that the construction of the dam may be completed and
the displaced people face the minimum hardships and harm.

OR

Justify the statement that all regional movements need not lead to
separatist demands. Give any three examples to support your answer.
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